Korean 4 class

Week T




The endings —(©9)22dHS
And -(O)2 I

The - ending “intention”
The - ending indicates the speaker’s intention or immediate desire, and it

corresponds to “will” or “intend to” in English. The ending is used only with the
verbs not with the adjectives, and it is normally used in colloquial settings.

The —-(2)22[|& ending is a three-form ending: —=2l X is used after a stem that
ends in a consonant, as in H32[| L.

-22[ 2 is used after a stem that ends in a vowel, as in Z2h&; -21& is used for a
=-irreqular, as in BF=eh



The endings —(©9)22dHS
And -(O)2 I

The - ending is only used for the first person and the second person
subjects. Consider the following conversation:

A: 2 AZ2HL? "What will (you) order?”
B: AHIO|Z =222, “(1) will (intend to) eat steak.”



The endings —(©9)22dHS
And -(Q)2 A2
As seen above. the - ending is used in the second person ques- tion (for

the first sentence) and the first-person statement (in the second
sentence). Here are some more examples:

A: 2 02 R7? "What will (you) drink?”
B: L] £AM|R. "Coffee please.”

A: OIC|2 Z2fL27? "Where will (you) go?”
B: =AEH0f Z21L. “(I) will go to the library.”



The endings —(©9)22dHS
And -(O)2 I

The — ending cannot be used for the third person subject, since one cannot speak

for the third person’s intention. Consequently, a sentence like is ungrammatical in
Korean.



()22 vs. -1 HHL/2 016l

The difference between —(2) 22| and -1 4101 / -1 40{5[|R is that while the
former expresses an intention, the latter expresses a wish or hope. For instance,
consider the following sentences:

L= AXE H22HL “(I) will (intend) to eat Sushi today”
Q= AAE HO A0 “(I) want to eat Sushi today”
o232 o =2 27(1) will (intend) to travel Korea”
SHES 043l Skl 41012 (1) want to travel Korea”

2HEHY 222 (1) will (intend) to go to London”

HEQ| 711 41012 “(1) want to go to London”




()22 vs. -1 HHL/2 016l

As seen above, the sentences with the -11 41012 ending simply indicate the

speaker’s wish. However, the sentences with the -(2) 22 ending indicate that the
speaker has already made up his/her mind and will do so.”



-(Q)2eHQ vs. ()2 HHIL

In the previous unit, the -(2)2 | ending that expresses the probable future as

well as the first—person speaker’s intention was introduced. -(2)2 {0 and -
(2)22iL can both be used to indicate the intention of the first-person speaker, as

shown below:

EMEOM B HAI2 (1) will meet (them) at the library”
E X0 BHEe 2 (1) will meet (them) at the library”



-(Q)2eHQ vs. ()2 HHIL

The meanings of both sentences are similar, and they can be used interchangeably.
However, note that the usage of —(2)2 0L is much wider than that of -
(2)221L, in that —-(2)2 HAH|R can be used for the third person subject as well.
When the speaker is not the first or second person, —-(2)z2 HH|R indicates the

speaker’s conjecture.



The (©O)2 AlIQ ending “Willingness”

The -(2)2 A2 ending indicates the speaker’s promise or willingness to do
something for the listener’s interest. The ending is used only for first person subject
and only with the verbs not with the adjectives. Consider the following sentences:

A: B A0 22| = 707 "What time will (you) come to the library?”
B: @™ AKX ZH L. (1) will (promise to) go (there) by 9 a.m.”



The (©O)2 AlIQ ending “Willingness”

Notice that speaker A asks what time B will come to the library. Speaker B’s reply
with (2)2H|2 conveys a sense of promise or reassuring of “arriving at the library by

9 a.m.” for speaker A’s sake.

The -(2)2A £ ending is a three-form ending: —=A|2 is used after a stem that
ends in a consonant, as in H2A|L; 2|2 is used after a stem that ends in a vowel,
as in ZHL; -H K is used for 2- |rregular verbs, as in 24| or BFEA|L.



The (©O)2 AlIQ ending “Willingness”

The —-(2)2l& ending and the —(2)2H|2 ending seem to resemble each other since
they can both be translated as “will” in English. However, there are two clear
differences.

First, while —(2)2el|£ can be used for a second person in questions, —(2) 24|
cannot. This is because the —-(2)2A|2 ending is used only for the first -person
subject.



The (©O)2 AlIQ ending “Willingness”

The second difference is that while —=(2) 22 indicates the speaker’s intention,

—-(2) 2 AL carries the speaker’s sense of promise. Here are some examples for
comparison.

“(1) will (intend to) study hard”
“(I) will (promise to) study hard”

03 Ao &Y Z2H2? "What time will (you intend to) go home?”
R A0 &A| ZAH27 (X)



The (©O)2 AlIQ ending “Willingness”

As —(2) 2L conveys a sense of promise, it is often used when the speaker

volunteers to do something. For instance, consider the following sentences.

S0 M|7F 222 "I will (intend to) go to the airport”
kot
O

20| M|I7F ZH L "I will (volunteer/promise to) go to the airport”

XYE2 M7t 4212 “As for dinner, | will (intend to) buy (it)”
XY X7t AL “As for dinner, | will (volunteer/promise to) buy (it)”
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7}t to go

1L 2t} to choose

5531 to study
7192 B to wait

21 vase

Ut} to pay

= song

51} older sister

2} to close
A3 library
¥ money
& to help

THU T} to meet
1=t} to make
M T} to eat

+ door

= water

Al = USA

AT} to believe
HI38} yacation
1 night

BT to see

H-=1 to sing/to call out

2. kitchen
B Xt} to mail out

A to make friends
ALt} to buy
2t} to live

Al color

£ hand

Al 7]} to order
AT} to wash
o} A| father
o]l % morning
At} to open

3 3} movie

& Japan

ALt} to get up

2}t to sleep
#13}351t} to make a phone call

Tt} to give
= 7]t} to enjoy
A house







